4/3/2014  Ryobi Electronics Parts Catalog -- Ryobi Power Tools Consumer: [CR120L 12 Volt Hybrid Saw]/[12 Volt Hybrid Saw]

- RYOBI 12 VOLT HYBRID SAW - MODEL NUMBER CR120L X

http:/ryobitools.arinet.com/scripts/EmpartiSAPL.dII?MF &app=RPT531&session=5438f0b8-aa0d-4293-b4a3-a5c77acfof03&cat=3&TF=epcFrame&assem=328&s... 1/2



4/3/2014 Ryobi Electronics Parts Catalog -- Ryobi Power Tools Consumer: [CR120L 12 Volt Hybrid Saw]/[12 Volt Hybrid Saw]

Ref# Part# Description

1 270017124 SWITCH ASSEMBLY

2 230008001 MOTOR ASSEMBLY

3 200687001 HOUSING ASSEMBLY

4 940304497 LOGO LABEL

5 632340001 CLIP

6 200729001 TRIGGER ASSEMBLY

7 692102001 SPRING

8 940976266 DATA LABEL

9 660570004 SCREW (M3 x 14 mm)

10 200728001 GEAR HOUSING ASSEMBLY

11 200736001 BEVEL PINION ASSEMBLY

12 200727001 BEVEL CASE SUPPORT ASSEMBLY
13 660203055 SCREW (M3 x 14 mm)

14 632473001 SHOE

15 200726001 BEVEL GEAR ASSEMBLY

16 660228016 SCREW (M3 x 8 mm)

17 300019005 BUSHING ASSEMBLY w/BEARING
18 661065001 SCREW (M3.5 x 10 mm)

19 632475001 SAW BAR SLIDE BRACKET
20 681261002 BEARING SLEEVE
21 610766001 COVER PLATE
22 681261001 FRONT BEARING SLEEVE
23 632474001 CLIP PLATE
24 902094001 FELT WASHER
25 302482001 SAW BAR & BLADE CLAMP ASSEMBLY
26 690227032 WOOD CUTTING BLADE
27 690227053 METAL CUTTING BLADE

987000325 OPERATOR'S MANUAL (961022021)

http:/ryobitools.arinet.com/scripts/EmpartISAPL.dII?MF &app=RPT531&session=5438f0b8-aa0d-4293-b4a3-a5c77acfof03&cat=3&TF=epcFrame&assem=328&s...

Qty Context Note Foot Note

—_ N = N = = RN = = = 00 = e = e e e e e

—

—_— = = = N =

22



